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Inventory summary

 Empty oil: BB1 Inner Supply, BF1 Outer Supply

* Disconnected gas lines: BB1 Inner Supply, BF1 Outer Supply, BF1 Inner
Supply (layer 15), BF3 Inner Supply (layer 7)

o Supply side bubbling: BB7 Inner Supply
* Missing sensor circuits: BB7 Inner Supply, BF1 Outer Return/Supply

* Disconnected or missing ribbon cables: BB1 Inner Supply, BB3 Inner
Return/Supply, BB4 Inner/Outer Return/Supply, BB7 Inner Supply, BF
Inner Return/Supply, BF3 Inner Return, BF5 Outer Supply

* Ribbon cables connectors: 2x25 pin female connector
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Layer-by-layer efficiencies
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* Could the this be explained by the low-momentum tracks in the ee->eemumu
calibration sample (hitting mostly the inner layers of the BKLM)?

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10










110lllllllllllllll 110lllllllllllllll
E f O Layer 1 E f o Layer1l
1.05 F 5 1.05 | ]
; ] O Layer 2 : ] < Layer 2
1.00 - ; O Layer 3 1.00 O Layer 3
> 0.95 ,—% @ —o—:% % N =0== : O lLayer4 > 0.95 o Layer 4
T —O— —o0—0— —O0—0—0—0—0
6090:._0_ —O— 83 8 & O* O Layer 5 5090 ! O Layer5
'O : O : O Layer 6 'O : O Layer 6
& 085 F —O— : o Layer 7 £ 085 ‘ o Layer 7
L —O— : L :
—O0—0— : O Layer 8 : : O Layer 8
0.80 | o—"0O— B y 0.80 . Y
: ; o Layer 9 ; ; - Layer 9
075 F : < Layer 10 0.75 | : - Layer 10
0'70:..1 P PR PR PR | P | P | aal .| o PR | PR | PR Y P .l: 0.70:..1....1....1 P P | P | P | .._.Q_...l o PR | PR | | " 1.70_.:
Q e e Q e e Q e e Q e e e e Q e Q e e Q e e Q e e Q e Q e e
o S S S S S G G G G G G G 9 S S S S S % % % % % % % % %
5 od, % o\,e % o\,? o\,@ o\,) o\,@ o\,o o\,d’ o\,@ o\,& o\,@ o\,(? . od, \,0 "e % o\,? o\,@ o\,) o\’& o\,@ o\,(? o\’& %, o\,& o\,@
0 0 S0, K6, 26, 06, 6, C 6, b s s s G 00 0 G, 0y 26y by By By by By s By By s b
R % Y Ry e %R R % Y Ry e %R
BBO BFO
1.10:'l""l""l'"'l""l""l""l""l""l""l""l""l""l""l""l"_ 1.10 L e L D B A A A B B B B B B
E 5 + Layer 11 E 5 + Layer 11
1.05 | ; 1.05 | .
: ; - Layer 12 : ] - Layer 12
1.00 | ’ 4 Layer 13 1.00 m 4 Layer 13
2095 Fp—"B D B~ DDA 4 Layer 14 > 0.95 F© i D=l g : 4 Layer 14
S |, N A S S I . " - -
- : : 4 Layer 15 - 4 Layer 15
Q090 ] V 0.90 :
— : -
= 085} : 085} .
0.80 | : 0.80 | :
0.75 : 0.75 | ;
0-70’..1 NP IPEPAPE IPSPEPATI EPRPRTAT APYPATAPAE NPT AR RPAPErar | N PP RPAPEPAN IPRPIPRTS IPAPIPA ARPRPAr I 0701 NP PRI IPAEPATS IPEPRAN TSR PRI IArEPEr AR | N NPT EPRPAPEPN IPRPEPRP IPATTPA PR I
Q e e Q e e Q e e Q e e Q Q e Q Q e Q Q e Q Q e Q Q Q Q e Q
% S S S S S % S % % S S S % S S S S S S % S % % S S S %
<> 00 o 0 %y "zy s 0> ‘2{, "Jd, ‘030 "«;9 'OJd, ‘0\{9 2o <> 0@ o 0 %y "z? "zo > "zd, "«;9 'OJd, "z& "zd, "Jé, A
0 0 % S0, 26, 56, 06, 6y 6, 6 s s G 6t 0 0 % S, 26, 56, 06, 6y 6, 6 s s G 6 C 6
O R % Y Ry R %R O R % Y% Ry R %R




Efficiency

Efficiency

1.10

1.05

1.00

0.95F Y

0.90 }

0.85 |

0.80

0.75

0.70 Lt

1.10

1.05

1.00

0.95

O
©
o

o
oo
wu

o
oo
o

0.75

0.70 k=

Q
*o)

Q. & & & & & & & & & & ¢ € @€
oy %, %o, %, %, %o, %y %, %, %, %, %, %, %

P, R o g oy P o o g Clo g Clo s
02y R0y %0, 0, 26, 26, 6, 6, 6, 16y 6y 6y 65 6, -6
C R %% Y% Ry % %R

L

PR

BB1

PRRTEN PSR RT U B SR | P | PR | P | N EPRTEET PR PRSPPI EPRPEPETN SPRPRPE S

Q
’b)

Q e Q Q e Q Q e Q Q Q Q e Q
%, O S 9 @ Q@ 9 € @ G ¢ @ ¢ 9
q@ 4? 42)49 4§?4g&4g>‘gg‘q®‘q® q%,q%>q%>4?

Q0 Q0QQQQQQ0

TRk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15

Efficiency

Efficiency

1.10

1.05

e
o
o

o
©
v

O
©
o

0.85

0.80

0.75

0.70 v

1.10

1.05

1.00

O
©
o

O
o
o

o
o0
wu1

o
o
o

0.75

0.70 v

E —_— ~ 285 - : O h

:8:_0_ —O— — ()

| T o 3R

- A —O— -

O~ —O— —O— :

- =©=—O— -

 —O— §
Q © © 0 @ € € @ € € 0 € @ @
e S % S G € Q § Q § & € € §
Dy Wo W, W, W, W, W, W, W, W, W, W, W, W, W

g @ %o @ Joo \)‘)o J‘o Jyé Jqo J)o Jéé Jeo Jeo Jéé \)‘?o \)06 e,
0 TR R R U g %0 % % W R R N
BF1

e e

i —N— §

= A :

| —— ‘

- —— .

O —— -
Q © © 0 Q. € € @ € € @€ € e @
d S % % % % % % % % % % % % %
0) 400 .O\) »Ozv) 40\; .O\)? 0'26‘ 40\;) .O\)cp 'OJ0 \;0 0\)& »0\)0 0\)0 0\)

Q0 Q0QQQQ0QQ0

Tk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15




Efficiency

Efficiency

1.10

1.05

1.00

0.95 }

0.90

0.85

0.80

0.75

0.70 bobs

1.10

1.05

1.00

0.95 |

O
©
o

o
oo
wu

o
oo
o

0.75

0.70 v

] _jé::@::@: —O0—O0——
== =5 =0
i —O0— == O —o— _ —O
g0 O - O
5 T =000 |
g 3= —0O
- O .
Q & & & € € € € € § & & € € e
% % % % % % % % % % % % % %
K f(? JOJO OJ‘) - ooz?aojoo \))60\)060\)0:{06 \;060\,060‘,060\,06
O, 0, :
0 TR Ry R Yy g, Y0 % % % R RN R
BB2
o n i
: e :g::g::g:gzzg:gzzgz
IS | : —A—D——D———— A A
—A— OO _’-\"_—A——A_—a— -
| A _A_—A——Q—A——A—
—— N
Q & & & O € € € € & € € € e
% S S S Q. Q. & § § ¢ § ¢ ¢
3 ,oq,, 0"0 0"9 0y g s 0y, 0"0 ,o\,& o\,@ o\,(? 0"0 '0"0 %,

0 05 %, "0, 26, 26 L6, 6y 6y 6 s G s G o6
0 TR R Y X 0 N % % R RN

Q

Q0 Q0QQQQQQ0

Tk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15

1.10

1.05

c =
© o
v O

Efficiency

0.85

0.80

0.75

0.70 Lbwe

1.10

1.05

1.00

Efficiency
o © o
(00} O O
wu o wu

o
o0
o

0.75

0.70

:$ O ﬁ g e —15— :
'—0—'8'—4'%8'0' —O——O0——0——O0——0— 00— 00— ]
] o~ g0 OR300 85—
i —O— : C ]
- —O— o= —O— o §
i —O——0— C
- —O— - —OT—0
—O— ]
N s ;
€ € € © € € © € € € € € € @
Yo &% & & G G § § § § § § G G
0,5 .oq, 0‘30 .o\,e .o‘, oJ? .o\,@ ,o‘,) OJ& .o\,& '0"0 OJ& o\,@ o\,(? .o\,&
Dy ©oy 0, 0 ’6 6, 6, "6, "6, "6y 6y 6y 65 6y "6
0 10 T Uy Uy Y % % 0 % R Ry

—

L

PR

L B I B L

—

PR IPURTURTT NR | PR | PURTUR TV WRNT U W NV WU U VT U U U AU VU U NNV VAU WO U VU U U U U U U U U WY

Q
’%)

e Q Q e Q Q e Q Q e Q Q e Q
. e S S S S S SR % R S S S
o % R Ry Ry R 225 ozd, '0«‘0 o o “l ozd, A

‘

0 05 % ", 26, 26, L6, 6y 6y 6 s G s G 6
0 TR R Y Uy K R % % R

Q0 Q0QQQQ0QQ0

Tk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15




Efficiency

Efficiency

1.10

1.05

1.00

0.95 |

0.90

0.85

0.80

0.75

0.70 Lt

1.10

1.05

1.00

0.95

O
©
o

o
oo
wu

o
oo
o

0.75

0.70 -t

- . -

a
gmian.acan:s =iSiSts
'.*8—_@_ O— : :Q: = | B
o —o- |
? —- 7
: == :

Q Q Q Q Q Q Q Q Q Q Q Q Q Q Q
% % % % % % % % % % % % % %
o) o) o) o) © o) o) o) o) © <© © o)
g s (? 4 ‘)00 \)‘).O {'6 Jyé Joé {)6 J(?é \)&6 {06 J(?é \)c?é ‘206 J(?é
0 TR R R Yy g % % % %% R R RN
BB3
- —— AP
Q Q e Q Q e Q Q e Q Q Q Q e Q
% S % S € Q& § § ¢ § ¢ ¢
O) »O& oO\) 0\)() »O\) 0\)? 0\)6 »O\)) 0\)0 0\)0 »0\)0 .O\)Cp 0'20 40\;0 .O\)

Q0 Q0QQQQQQ0

TRk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15

Efficiency

Efficiency

1.10

1.05

e
o
o

o
©
v

O
©
o

0.85 |

0.80

0.75

0.70 v

1.10

1.05

1.00

O
©
o

O
o
o

o
o0
wu1

o
o
o

0.75

0.70 v

T 3 = ‘
_‘a " "
- g S S S A
P 5
O —o— == 4
: —g="0" :
e € € © © & © & © € € € ¢ ¢ €
o S SH S S S S S S S S S S S &
5 .oq-, OJO .o\,e .o‘, .03? .o\,@ .o‘,) .030 .o\,c? .o‘,(? .030 o\,@ 0"0 .o\,&
s %5 "0, 0 %6, %6, 26, 76, 26, 65 65 65265 26, *6
° R D N ‘)63 > o \{% D Y o Ty
BF3
: - :
L A— A==
SAm B
s ey A
Q € € © © © © © © € € & ¢ €
st e S S S S R % R S R % R
4> A@ ‘? cz)qy Qevqevﬁb‘Q@‘Q@ *@‘Q®'Q®'%b4b

Q0 Q0QQQQ0QQ0

Tk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15




Efficiency

Efficiency

1.10

1.05

1.00

0.95

0.90

0.85

0.80

0.75

0.70 Lt

1.10

1.05

1.00 |

0.95

O
©
o

o
oo
wu

o
oo
o

0.75

0.70 =

U o 4, o\,e'o\, o\,% ) Gy Gy Gy G, G, 676y 6o

Q

. o _

i —O— ]

D= ~0-=6=8-0="0"—6—0-—0-

:8_—0—_0_ —O— —O0— —Q= =00

- —O0—0— ]

i 0 ]

—O0——3— ;

i O —O— ]

[ —O— :

B —0-26: 7]

Q © © € € € € € € € € € € € @€
ot S S S S S % S S % SR % % %
s Vo W, W, W, W, W 0, W, W 0, W, W
> dj’ "0 4 4 Yo «;, s J) «‘0 J& "29 «‘0 Y "0 Jé,

L

PR

PR

PR

PR |

P

P |

PR |

BB4

P

PR |

PR |

PR

PR

PR

PR

Q
*o)

Q
-
9

‘

e
".'o

Yo

Q
".'o

Q

Q
-+
Ry

Q
+
Ry

Q
-+,
s

Q
"2)

e
".'o

25 2
0 05 %, "0, 26, 26 L6, 6y 6y 6 s G s G o6
0 TR R Y X 0 N % % R RN

Q
".'o

Q

‘o

Q
"2)

‘o

Q
T

Yo

e
T

‘o

e
".'o

‘o

Q
-+,
A

Q0 Q0QQQQQQ0

Tk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15

Efficiency

Efficiency

.

1.05 |

e
o
o

o
©
v

O
©
o

0.85 |

0.80

0.75

0.70 v

1.10

1.05

1.00

o
©
v

O
©
o

o
o0
wn

o
o0
o

0.75

0.70

Q
%)

Q
%
9

‘

e
".'o

\,

Q
"2)

Q

Q
o+
Ry

e
".'o

‘o

Q
"2)

%6

e
".'o

e
".'o

2> %
o o 4, o\,e’o\, o\,%'o‘,) Gy Gy G, 90, 63,7606 T

Q
"2)

Q

<

Q Q
%, %

<

<

Q
"fo

‘o

e
".'o

<

Q
o
0\)0

| IR

| IR

PR

PR |

P

P |

P |

BF4

P

PR |

PR |

PR

PR

PRTRTE Y

ol

Q
%

Q
%
9

‘

0 05 % ", 26, 26, L6, 6y 6y 6 s G s G 6
0 TR R Y Uy K R % % R

Q
".'o

Yo

e
"2)

Q

Q
o+
Ry

Q
-+,
Ry

Q
-+,
XU

e
".'o

Q
".'o

2> s

e
"2)

‘o

@+ Q.
s

0
‘o

Q
T

‘o

e
".'o

‘o

Q
-+,
A

Q0 Q0QQQQ0QQ0

Tk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15




110 N N N BN L AL LN AL ML LR LA LR NN R 110lllllllllllll
1.05 | 5 © Layer1l 105 E 5 O Layerl
O } O Layer 2 O } O Layer 2
100 @ A 0O O—O0—O0—0—0—0—0—0—0] O Layer 3 1.00 : © Layer 3
> 0.95 ﬁ_o_+ —O0—0—0—0—0—0—0—0—0- O Layer 4 > 0.05 O Layer 4
5 —O0—0— QO *“*—ﬁ’“ﬁ < Layer 5 qc) O Layer5
'O 0.50 —O0——0—— : O Layer 6 'O 0.50 O Layer 6
& 085 5@;;@; - 0~ —0 o Layer 7 & 085} _ o Layer 7
: —O— f o Layer 8 E 5 O Layer 8
0.80 | —0— - 0.80 | -
: oo —o— | < lLayer?9 L —O0— ; < Layer9
0.75F ; o Layer 10 0.75 | : ; o Layer 10
0‘70:..1 bkl P P ol o | | | o | | o P P 0.70:.. ..ﬁ(i):—.'..l P PR | PR | P | PR | PR | | PR | PR | PURTRRT U (T U N U U ST Y |
e e Q e e Q e e Q e e Q e ) e e e e e e e e e e e e e e e e
% % % % % % % % % % % % % % % % % % G QG . G § g
2 f@ Jozooo{)oo{' 60\}?60\)66 J)oochéo\)&oo{&o \;060\;‘?60‘;060\;06 2 f@ \)0\;000\;900\; 60\;?60\;0:60\;)60\;060\;060\;&60\;0604?60\;&60\;06
0 10 T Yy N 0 N g 0 RN © 10 T g N 0 e g % RN
1.10 ZLE, 10 BF5
o5 E 5 + Layer 11 o5 E + Layer 11
T ; 4 Layer 12 O } 4 Layer 12
1.00 | S S W 4 Layer 13 1.00 1 ] 4 Layer 13
> 0.95 [ B B -‘ #  lLayer 14 > 0.95 =SS S + Layer 14
O T : O T :
5 ! : “  Layer 15 qc) : “ Layer 15
& 0.90 & - 2 0.90 $ 7
i ' : I :
& 085} : £ 085 ]
0.80 - 0.80 A DA B —A— -
0.75 | 0.75 | -
! i ——
0.70:.l bk P PR Y PR | P | PR | aal P | PR | PR | PURTRRTU (T T U U T Y PR Y | 0.70:. e PR P | o | | o | | Ao oA P Ao
o) od, o\, o\,e 2 o\,v o\,@ o\,) o\’e o\,& o\,‘? o\’& o\,& o\,(? o\, > o@ 0\’0 0"9 2y Ty Ty o\,@ o\,(? 2 o\,@ 20, .o\,& 0,

0 05 % ", K6, 26, 06, 6y by 6 s G s G 6
© TR R Y Uy R R % R RN




Efficiency

Efficiency

.
[
1.05
[

1.00 |

0.95

0.90

0.85

0.80
0.75 |

0.70

1.10 —
1.05 |

1.00

0.95

O
©
o

o
00
w1

o
o)
o

0.70

?83:8:—6— -0 89 Z§¢Z§¢Ii¥:i§:iizjgé

—O— —O— —O——0— ———0C— A~ ‘
—O— T _ o0 —0
_O_
l....l....;....l....l....l....l....l....l....l....l....l....l....l....l..‘
Q Q Q Q Q Q Q Q Q Q Q Q Q Q Q
U U R AU R R A R R U U > R R
o) o) <O ol o) <O ol o) <O ol o) <O ol o) <O
> @ ‘)0 o o J? J? ‘)0‘ > \)0 \70 ‘}c? \)0 \7(9 \70 Jd,

‘o 0 -~ e rd -~ - rd -~ - rd -~ - rd -~
25 Ry 0, 0, by by by by 6, by by by b5 b5 0
0 TR Ny U U Y Y W %Ry

Q

0.75 |

BB6

fJTllim,mnm ™M Ty Y™™y yYyYYyfyrYYr77r7™ v'vvvv'vvvvlvvvv'vvvvlvvvv'vvvv'vv‘

el e s s s

e, Q. Q. O O Q. O O O o O O & o 0
> VU /U U U AR AR A U /U U A R AR AR
Oy Vo O, VO, O, OV, O, D, D, D, D, L, O, O, 0O
> Wp By R, Wy Ry R R R, R R, R R R, R

‘o o -~ Ed rd - - rd -~ - rd -~ - rd -~
2> 02y 0, 0, 65 65 65 6y 6y b5 "6y 65 6565 -6
© TR R Y Uy R R % % RN

Q0009 QQQQQQ0

B

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15

1.10

1.05

o =
© 9
n O

Efficiency

0.85

0.80

0.75

0.70

1.10

1.05

1.00

Efficiency
o © o
o 38 &

o
o0
o

0.75

0.70

BF6
Se—_ | ===
i s O — ]
oo OO0 =)0 R—g——{~—g-—0-—g-
: —O—
: O —O— :
s _O_ E
Q Q Q Q Q Q Q Q Q Q Q Q Q Q Q
o S S S S S S S S G S S G G S
<0 o) © 0 0 © 0 0 © 0 0 © 0 0 ©
e"z (?"z Jqo J‘?o Jgo Jgo Jqo Jeo J‘?o Jq’o Jc?o J‘?o J"Pa Jc?o J‘?o
2R % % z% s % {% Y 9 9% X
BF6
5 ! A ! . ! A ) ﬁ ! ﬁ ﬁ ﬁ 2 ]
Q Q Q Q Q Q Q Q Q Q Q Q Q Q Q
Y S S SE S S S S S S S S S S %
0 o) <0 0 0 <0 0 0 <0 0 0 <0 0 0 <0
> B Rp s Ry Ry g R Py Rp R o X e P

‘o o rd e - rd L - rd L - Ed - rd Ed
2y Qs oy "By "6y "Gy "Gy "Gy "G "Gy "G "6 "G "Gy "6
© TR R Y Uy R Ry % R R

Q0009 QQQQQQ

>Rk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15




Efficiency

Efficiency

-
[
!
!
i
!
i

1.00 |

0.95

O
©
o

o
o)
v

0.80 |
0.75 |

0.70 k=

:
.
[

1.05 |

sia=1=e ;
E —— 5

1.00

0.95

O
©
o

o
oo
wu

0.75 |

0.70 =

Il

‘>

>

LA B I B B LA A —rrr e LA A —rrr s ™

by @+ @+ @+
o
‘ 0 o . » - . - - . - - . - - ”
22 D0 ‘s s by "6y *Es "6y *Oy by "Gy by by "6y 6
TR 2 % %, U % %o 2 R R %

0.80 |

S/
7

5 2 > e
sy s O, O, b6, 6, 6, b6, 6, b6 6y 6y 6y 6y 6
0 TR0 R R Y U, 0 N R % R RN

Q0 Q0QQQQQQ0

Tk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15

1.10

1.05

=
o
o

o
©
v

Efficiency
o O
(00) O
w o

0.75 |

0.70

1.10

1.05

1.00

o
©
v

Efficiency
o O
(00) O
w o

0.75 |

0.70

|
(€ (¢
|

QO

PR |

Y
’ &
o o - - - - - - - - - - - - -
s Ny O 0O 6 6 6 6 6 6 6 6 6 6 6
e 2 Ny ‘)6‘ ‘)6‘ > \79 \{9 \—’0 \—3; <> "):P \-’? \-29

e
T

PR |

0+ Q+ @_t_o 3
’ (o
0 o -~ . . -~ -~ L -~ rd rd rd ' -~ rd
Cy "y 0, 0, 6, 6, 6, "6, 6, "6y "6 b6y "6y 65 "6
< < 7 > s > ‘)6‘ ‘)63 s > \70 Y, % \')0 \'2) \':_) \'2,) \')? \-29

e
e

Q0 Q0QQQ Q00

tor Rk

Layer 1
Layer 2
Layer 3
Layer 4
Layer 5
Layer 6
Layer 7
Layer 8
Layer 9
Layer 10

Layer 11
Layer 12
Layer 13
Layer 14
Layer 15




